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REVISED COURSE |
(3 Hours) [ Total Marks : 100 &

(1) Question No. 1 is compulsory.
(2) Attempt any three questions from question No. 2 to question no. 6.

- (3) Figures to the right indicate full marks.

Solve the equation 7coshx+8sinhx = 1 for real values of x ) 3
If gy o | ] =
z (}.’.4'}"} {x-y) m ax ay '1.;; 3
=]
¢ g, vmp Wl &
Ifu=rlcos20,v sin2 @ find 7=y alc EJ) &;} 3
4 - v
Prove that S::c Xx=1l+x +£§_+ ...... —_— _ 3
Find the rank of the Matrix by reducmg it to normal ‘fﬁrm - ‘4
1_‘ 1 1 A | 5\
I -1 -1 ;
=T R |
g f £ N oY :
Fmd n* derivatives o (x lxx-—'-EX)C 3) 4
| _ 3..“(!
-x
Ifa, B are the roots thhe uquntmn x ~2J; x+4=0 6
find the value of o® +f*
Examine whether the vegotrs | 6
X = Wl é&' 0 -1
Xp=[492 ] X
are Immly Wend‘éﬂ
(i) S’tat& and pre.gﬁ Euler's theorem fc-r a Homogeneous function in two 4
. variablesy,- .
_(:ﬁ i = xr.(asu 4
: f‘Fr:l tlggwa]ue of x*u_+ ny W & .
3 (TURN OVER




3. (a)

(b)

(¢)

4. (a)

(b)

(b)

X, ¥ 3x1+ 13:{ ¥+ 3x =0 &
Discuss thr: sta.tmnary points for Maxima and Mininima of P
X4 xy?= 12x%-2y? +21x + 10 .
(i) Iiftaﬁ (x+iy) = a + ib prove that tanh2y = —z;—"-— “*
Liwa > b <=
(ii) Separatc into real and imaginary parts of tcg f3+41] &
_ - ¥
Ifx=ucosv,y=usinv f /% N 5
8(u, v) a(x,}'] ST h
Prove that E:‘(x,y) 3(u,v) x|
(i) Snlve the system of ﬂquaﬁenhy Gat{ss] Jordan Method
x + 2y + 62 =22, 3:&43& 26,V 6x—y—z=19
(i)  Solve the system ofiequation, tg ‘Gauss Siedel Method.
Correct upto three decimal. -
2x ~ 4y+492F4§r e
431+23+252=-23 |
3x+53”-3z~91 =
6 ﬁ %
vaa that Cus B+§ fit-0 = [3 cﬂs49 +5]
Flnd he muc 0 ﬁa't and b
hm TC(I +ﬂ:l¢£JSX) bsinx
it P o =
7z (5;} {‘i} Igjn— e* uustncrsx find y,
B(ii) . Ify = a"“ 'x prove that (1+x?)y, . +[2 (n+1) x - 1]y,,, +n(n+1)y, =0
[TURN OVER
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Is the following system has trivial or non trivial solution ? Obtain the,aﬂa

trival solution if exist.
3%, 4%,~ %~ 9%,=0
2x,+ 3+ 2x,— 3x,=0
2%+ X~ 14x,~ 12x,=0
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3
Find non-Singular Matrices P & Q such that,
L. B3 B

A=12 1 4 3 | edued to normal form. Also find rank.

30 5 -10

du ©Ou 0Qu

Ifu = flers, e**, e*¥) find T 0

ox &y 0z
(i)  Fitastraight line to the following data :

Yearx : o5t | 1961 | 1971 | 1981 | 1987

Production y : 10 12 ] 10 ey

Cr
Y —j_, £

XD

(i) Fit a second degree parabolic curve to the ﬁé{iiwing,ﬁ;@’éﬁ 3
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